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N = 0] &F AF S & AN A
2022 & =20 A LBHSH LV IIEIEES H 2 EHSH EXl 22
25 EX 22t
Hu: NN MFE P
Sel: DASAO XFBe P EERED
(o
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
E X 2l 4,531,219 2,511,026 2,020,193
= 1,069,513
= 104,154
Al 3,357,552
NEHN HE 2 4,440,867 2,420,026 2,020,841
= 1,069,513
o= 104,154
Al 3,267,200
DWSAO X2 S 59,950 37,150 22,800
N&Eze 2eted 46,750 23,950 22,800
201 et 22,350 22,350 0
01 AP 2t 2] H| 22,350 22,350 0
OSYLME ST 2Y
900,000 x2CH 13| 1,800
OURADRHLIE ZAEK L HMADE Y
900,000 x122 10,800
ONHELEX ZANSY +48
325,000 x30&! X| 9,750
206 M = dl 1,600 1,600 0
01 X2 4| 1,600 1,600 0
OX&ENMD &ZUSH 2 400,000 *43| 1,600
405 KHAHFE S HI 22,800 0 22,800
01 XML 2 FF S| 22,800 0 22,800
OXEEND &28&I 7 22,800,000 «1CH 22,800
EH)|=EEX BH 2 24 13,200 13,200 0
401 AIEHI 2 2 0HY| 13,200 13,200 0
01 Al&Hl 13,200 13,200 0
O=2IJE=8 LHXEAI 24 80,000& x165& 13,200
ANEHE J|gt 2= 365,514 108, 100 257,414
= 89,854
Al 275,660
ANE AHE 28 2H 21,000 31,000 A 10,000
201 LBt Y| 21,000 31,000 A 10,000
01 AP 22| d| 21,000 1,000 20,000
ORSMNSE QM X o
250,000 4= 1,000
on28 ¥sdg s8N € =M HE
70,930 28201 2| -2,260& 20,000
SIZEXNEEANAERYHE 344 514 77,100 267,414
& 89,854
Al 254,660
201 LBt ]| 27,000 19,100 7,900




SA: EXZRY
M NNYE HFE P

Sl WIS I8 E CEEEED
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
02 2224 H| 27,000 19,100 7,900
OXNEANE HANAH SIES
96,4903 19 x12& 22,000
ONHSNESSBANAY SN B4
416,660 12& 5,000
207 SO0 | 317,514 58,000 259,514
= 89,854
Al 227,660
02 & AHJH Y| 317,514 58,000 259,514
OEXABAE DBE AT =
18,0000H 1,000 18,000
OFAE FUE ZESAAE 2=
299,514,000 « 1Al 299,514
& 89,854
Al 209,660
SSHQ 23 A 22 445,280 550,080 A 104,800
= 92,200
Al 353,080
2sat2te] gt d 4,000 4,000 0
201 et 9| 4,000 4,000 0]
01 AP 22| H| 4,000 4,000 0
ORSUNATAARS ALY
100,000& 10 43| 4,000
ESA Hell g2 21,280 7,280 14,000
201 et 9| 21,280 7,280 14,000
01 AP 2t 2] H| 19,000 5,000 14,000
OR=A EH(ZH)He 23 WESWM HE
=T 10,000 =1, 0004 10,000
OUHXFHSF 2etE0l =X HME
4 5008 %2, 0008 9,000
02 332%H| 2,280 2,280 0
OE=S A HeHA D SMSAIAE SAIE 4|
190,000& 1200 & 2,280
Hged=s g2 155,000 210,000 A 55,000
201 et 145,000 200,000 A 55,000
01 AP 2t 2] H| 145,000 200,000 A 55,000
OMNLHISMESHANAN 23S 23EHI =&
1,000,000 x60AH 60,000
OINLHIZEESAEI 2= 2HEHI =2
1,000,000 x60AH 60,000
OHHIIZ2A DN HE ZEEI =42
2,500,000& 104 25,000
802 Bt&t =2 J| Ef 10,000 10,000 0
03 JIEIEtE 2 S 10,000 10,000 0




2N EXZel
Hu: NN MFE P
Sel: EEHQ R4 B (B9 ®R)
5 - 4
SN BA(SA) - MRAY - BES 0l &t o il HImEET
oNg=ReE=3 =3 1,000,000& 10 10,000
HESAIXIb g2 225,000 328,800 A 103,800
= 92,200
Al 132,800
201 Let2d] 219,000 322,800 A 103,800
= 89,200
Al 129,800
01 At 22l 219,000 284,300 265,300
OMESANXIN HE =2
109,500, 000& =23l 219,000
= 89,200
Al 129,800
202 044l 6,000 6,000 0
= 3,000
Al 3,000
01 = LH o4 1l 6,000 6,000 0
OMESAXIN EXNELEZA FEALI
20,0003 150 x2H 6,000
= 3,000
Al 3,000
HESAIXIIL 2F 22l 40,000 0 40,000
201 L4l 40,000 0 40,000
01 At 22l 40,000 0 40,000
OMNESAIXIL ZARXE S TEHME
20,000 *3& *3300H+200, 000& 20,000
OEXNEH HUOE ==2 10,000,000& 23| 20,000
HEIE E2EFA 25 227,973 200,593 27,380
< 14,300
Al 213,673
TEYFA AdS2e 190,200 162,820 27,380
< 14,300
Al 175,900
201 et 43,200 41,200 2,000
< 6,300
Al 36,900
01 At 22l 2,000 0 2,000
OA=PHIE NA 22H =374
500,000*4 4 2,000
02 2324l 41,200 41,200 0
OS2 F=A CHHAIE LHZEZAL & Hl
40,000,000& =14 40,000
< 6,300
Al 33,700
OLZ2Y=A FEYR Y| SRS
100,000& 128 1,200




=M EXRED
Ha: Y HX5 7
o9 HAUIAY T2YFL TS

(AL i

- _ _ RE]
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
401 AlEHIZL 2 0HY| 147,000 121,620 25,380
== 8,000
Al 139,000
01 Al&H| 147,000 121,620 25,380
OEZ2HOHHAIAE AX 65,000
Oz yo 200,000 *175JH0 & 35,000
OxsdHsu 10,000 =1,0000H 2~ 10,000
OEzg-HED 100, 000& *20004 &~ 20,000
OAlIQIOtNE =2 23] 500,000 =404 20,000
OB sg HaHsH
1,000,000 = 10K 10,000
OZET=HE H& AXAIY
200,000 =100 2~ 2,000
= 2,000
O=2JINEHS T HZ EXAFS
800,000 x25JH A~ 20,000
& 6,000
Al 14,000
ons28 284 018 &
6,000,000 x54! 30,000
C2HEA 2EHAIY 37,773 37,773 0
201 LBt ]| 11,500 11,500 0
01 AP 22| H| 11,500 11,500 0
OE2YFLIANE 2Y4T
100,000& x5 x33| 1,500
OE2HZFA CHHANE MZ(HHZ|Y)
20,000 5008 10,000
403 XX SHS K20 & 26,273 26,273 0
02 BI2SHUSXA=2EAEAISHI 26,273 26,273 0
OZ2INTAZBAAE K22
1,477,000 x12& 17,724
OE2H=A I X&)
712,000& x12&€ 45,000 8,549
22t 38 g4 1,292,337 95,168 1,197,169
= 343,000
Al 949,337
XNeldEBAIAE 2=2H 130,837 88, 168 42,669
201 et | 130,837 88, 168 42,669
01 AP 2t 2| bl 1,000 1,000 0
OXYA{S HAELH 100,000& x5 %23| 1,000
02 22244l 129,837 87,168 42,669
OSI=2EXNHBAALY & IJNZB2UEAEBAAE
ESSANNES 9,169,750 x12& 110,037




2N EXZel
A NN HA5 7B
B%: Do} x-lE %—I X

= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
OYTA SUHEZEEAMNAE FXE=>
1,650,000%12& 19,800
C22 XotAIEES Hotsh AMY 1,154,500 0 1,154,500
= 343,000
Al 811,500
401 Al HI K 201 I 1,154,500 0 1,154,500
= 343,000
Al 811,500
01 A& HI 1,142,000 0 1,142,000
O XotAld=E et HAAY
1, 142,000,000+ 13 1,142,000
= 343,000
Al 799,000
03 Al 2 THHI 12,500 0 12,500
© XGtAIEd2 AtY =Y
12,500,000% 13l 12,500
LOHHEIN(ER)E S& ZAXHE A= 7,000 7,000 0
201 Let24d] 7,000 7,000 0
01 At 22l 1,000 1,000 0
ORI 2285 7L 1,000,000& *13l 1,000
02 =224l 6,000 6,000 0
O&AAZt SHAAE KX22l 500,000 *122] 6,000
K& &AL 22| 2,049,813 1,428,935 620,878
= 634,313
Al 1,415,500
NETHEAL B2 1,415,500 725,000 690,500
201 et 181,500 125,000 56,500
01 At 22l 159,000 115,000 44,000
CEBPEL-EE LIV
100,000 5% =103l 5,000
OX¥= Zd8EI ==& 47,500&+2,400Z X 114,000
OXNETHEAL ERHAY & EE
10,000, 000& *4 3| 40,000
02 =224l 22,500 10,000 12,500
ONFMEAMYS DIALE 2HRS
2,500& +9,000A 22,500
401 Al HI K 2018 34,000 0 34,000
01 A& Bl 34,000 0 34,000
OXNEMEAL SEXNEXN RS H|
17,000& 2,000 X 34,000
802 Btet = DI Et 1,200,000 600,000 600,000
03 JIEtEtEt 3 S 1,200,000 600,000 600,000




SA: EXZRY
M NNYE HFE P

Ehels XIETHEAL 22l (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
OXNEHEZAL EXAHEREZ =33
1,000,000& 1,200 Xl 1,200,000
K& TH 2 AFAHS 634,313 703,935 AB9,622
= 634,313
201 Let249] 634,313 703,935 AB9,622
= 634,313
01 At 22l 624,313 703,935 AT9,622
OXNEMEA S22
183,900 x3,2852 XI+201,500& 604,313
= 604,313
OXNET=AL AJ2Xtg &4 20,000,000& 13| 20,000
= 20,000
02 2324l 10,000 0 10,000
OXNAETHEAIHS QIALS RQERS
2,500& x4,000A 10,000
= 10,000
HH2IYZH(EX 22| t) 90,352 91,000 A 648
JlE &3l 90,352 91,000 A 648
22 A 90,352 91,000 A 648
201 ¢er24] 36,792 37,440 A 648
01 At 22l 36,792 37,440 A 648
o=t 8,000 «21H 72 «12& 14,112
OB+t 90,0003 218 «128 22,680
202 Odl 45,360 45,360 0
01 = LH 4 HI 45,360 43,200 2,160
AR+ SH0OH 180,000 21H «12& 45,360
203 R =&t 7,000 7,000 0
03 AI®F=XH S Z=ZH| 2,200 2,200 0
OAH=XH I =AY 2,200,000 2,200
04 FANSEHE=LH| 4,800 4,800 0
ORN2IEYRF=AHI 400,000& 123 4,800
204 AR A H| 1,200 1,200 0
01 MR A 1,200 1,200 0
OXMZ LR FH| 100,000& 128 1,200




